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A. Periodicity
1) What is ionization energy? Ei .- o regueires o et g E
e G Cﬁt%m

a) Which element has the highest ionization energy? Why? ' o
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b) Which element has the lowest ionization energy? Why?
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2) What is electronegativity? sbility,  ef Sn  stonn T atheer &7 T ifsetf

a) Which element has the highest electronegativity? Why?
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b) Which element has the lowest electronegativity? Why?
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3a) What happens to atomic radius as you go across a period? e creases

b) Why? Mo-< + /= adtemetine

4a) What happens to atomic radius as you go down arow? 1 r+c-cas=_
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5a) What happens to atomic radius as a neutral element becomes a positive ion? D ecrcesred
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6a) What happens to atomic radius as a neutral element becomes a negative ion? =~ 7 merz ws=s
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7) What do elements in the same group/family have in common?
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B. Molecular Geometry Complete the table below.

Formula Lewis __Stick Polarity - Gesometr
8) SiCl, = : ¢l
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C. Gas Laws Show set up and all steps. Remember units! N TR L _la Vi
f\/ ’r\,‘f./ P T J - 1’; 1— 7/ (o
13) 725 mﬁ of hydrogen are at a pressure of 1234 mbar. The volume decreased to 600 OmL.
What is the new pressure? Vs
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~ 14) A particular gas occupied 72.3 L at 212 °CT' An hour later, the volume that the gas occupied

was 55.5 L. What is the temperature at this new volume? T =212 + IABUT
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3 / A gas occupied| ;s\)a steel container has a pressure reading of 526 mian at 98 4°C. The
temperature was decéased to 65 3°C. Find the new pressure reading.
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16) 1.76 moles of a gas occupied 21.2 mL. Additional gas was added so that the gas occupied
30.0 mL. Determine the current number of moles of gas.
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17) A sample of nitrogen monoxide has a volume of 72.6 mL at a temperature of 16.0°Cand 2

pressure of 1041 kPa. What volume will the sample occupy at 24.0°C and 99.3 kPa?
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18) What Volume does 0. 056 mol of H, gas occupy at 25 Cand 1. 11 atm pressure?
T= 25 + 223,.:S
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D. Concentration Show set up and all steps. Remember units!

19) A solution contains 321 g of HCl. The volume of the solution is 988 mL. Determine its
molarity. — =i Sel-i=-
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20) Cammie has a 8.00% solution of potassium chloride. The mass of the solution is 431g.
What is the mass of potassium chloride in the solution? §7 > T KCI
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21) Dane needs to make a 3.00 M solution of H,SO, . In the prep room he finds 250.0 mL of a
10.0 M solution of H,SO, . Determine the volume of Dane’s new solution.
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E) Reaction Rates

22) Summarize 4 ways that you can speed up a reaction AND why the rate would increase.

b) 7\ lébr'h-z“‘z: }}ﬁ"é‘ﬁ U hrerz Serfre allewss rees da“‘rlaiw;w:\

» " ‘ PSIEAND
©) T omereemtiee © helze1zS gy~ fegeTher ) M St i

d) /f\ T 2~ /e(z—;—-_\nz__‘ Pvsr< Zazraa frsfre s Pres< V‘a:f":,) e Ceil i
i + s

F) pH and Neutralization Show set up and all steps. Remember units!
~ 23) The pH of solution is 5.25. Determine the following.

pht+por =14 o -
S - -4
a)pOH = .35 b)[H*|=5-Cx"°  ¢)[OH |=1.7x1=  d)acid or base?
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24) Calculate the pOH'of a 0.300 M HCI solution.
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25) The pH of an acid is 4.15. Determine [H*]
_pH
EH"ﬁj = o g
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26) It took 35.8 mL of 0.060 M KOH to neutralize 58.3 mL of HNO,. What was the
concentration of HNO, ? Hrosa + Lo = Kkpon + Hod
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27) It took 14.6 mL of 0;150 M HCI to neutralize 37.9 mL of LiOH. Determine the molarity of
the base. RCl 4 Lien > Lici + ron
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